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6. Answer any one of the following:        6×1=6 

যেককোক ো একটি প্রকের উত্তর দোও -          ৬X১=৬ 

a. Describe the Transduction process with the help of suitable 

diagrams. 

চিত্রসহ ট্রোন্সডোকসো  প্রচিয়োর বর্ণ ো দোও। 

b. With the help of Chart represent the classification of 

Phanerogams according to Bentham & Hooker. 

ছককর সোহোকেে যবন্থোম ও হুকোকরর সপুষ্পক উচিকদর 
যে ীচব েোস কর। 

c. Describe the anatomical adaptation of halophytes. 

লবর্োম্বু উচিকদর শোরীরস্থোচ ক অচিকেোজ  বর্ণ ো কর।  

 

7. Answer any one of the following:      10×1=10 

যেককোক ো একটি প্রকের উত্তর দোও -          ১০X১=১০ 

a. Write notes on: 

টীকো যলখ। 
i. Cell Wall of Gram Positive and Gram Negative 

Bacteria. 

গ্রোম পচজটিি ও গ্রোম য কগটিি বেোকটিচরয়োর 
যকোষপ্রোিীর। 

Diagnostic features of Lamiaceae.                 5+5 

লেোচমকয়সী যগোকত্রর ববচশষ্ট্ে।                            ৫+৫ 

b. Name the families in which the following features are 

found. i) Caryopsis, ii) Compound Spadix, iii) Replum, iv) 

Capitulum Infloroscence. Mention the key features of any 

two families among these.                                4+(3+3)=10  

চ ন্মচলচখত ববচশষ্ট্েগুচল যে যগোকত্র যদখো েোয় তোকদর  োম গুচল 
যলখ-i) কেোচরওপচসস, ii) যেৌচগক স্পোচডক্স,  iii) যরপলোম, iv) 

কেোচপিুলেোম পুস্পচব েোস। এর মকযে যেককোক ো দটুি যগোকত্রর 
প্রযো  ববচশষ্ট্েগুচল উকেখ কর।          ৪+(৩+৩)=১০ 
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Answer all the questions 

 

(GROUP-A) 

1. Answer all of the following:                 2×5=10 

   সবকটি প্রকের উত্তর দোও -                                      ২x৫=১০ 

a. In which type of algae Heterocyst is noted? Cite example. 

ককোনপ্রকোরেে শৈবোরে কেটোরেোসসস্ট পসেেসিত েয়? উদোেেণ 
দোও। 

b. Mention the Pigments and storage product of Pheophyta. 

চিকয়োিোইটোর রঞ্জক পদোর্ণসমহূ ও সচিত খোদে উকেখ কর। 

c. Name of Indian species of Rhizopus, Agaricus and 

Penicillium. 

রোইকজোপোস,আগোচরকোস ও যপচ চসচলয়োকমর একটি ককর 
িোরতীয় প্রজোচতর  োম যলখ। 

d. What is Pseudoelater? Where it is found? 

চসউকডোইকলটোর কী?যকোর্োয় যদখো েোয়? 
e. Mention two characters of Class Lycopsida. Cite examples. 

Lycopsida- যে ীর দটুি ববচশষ্ট্ে উকেখ কর। উদোহরর্ দোও।   
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2. Write Short Notes (Any One):   5×1=5 

সংচিপ্ত টীকো যলখ (যেককোক ো একটি) -                  ৫x১=৫ 

a. Use of Algae as Food. 

খোদেরূকপ বশবোকলর বেবহোর। 

b. Internal and external structure of Basidiocarp of Agaricus. 

Agaricus-এর যবচসচডওকোকপণর বচহণ গঠ  ও অন্তগণঠ ।  

c. Advance feature of Sporophyte of Funaria. 

Funaria-র যর যুকরর উন্নত ববচশষ্ট্ে। 
 

3. Answer any one of the following:     10×1=10 

যেককোক ো একটি প্রকের উত্তর দোও -          ১x১০=১০ 

a. Draw and describe the life cycle of Macrandrous species of 

Oedogonium. Mention the key features of Cyanophyceae. 

                                                                                 8+2=10 

Oedogonium-এর মেোিো ড্রোস প্রজোচতর জীব িি 
চিত্রসহকেোকগ বর্ণ ো কর।সোয়ো িোইচসর মখুে ববচশষ্ট্েগুচল উকেখ 
কর।                               ৮+২=১০ 

b. Classify Fungi according to Ainsworth (1973). Mention the 

main features of the catagories according to the 

classification.                                                        5+5=10 

চবজ্ঞো ী Ainsworth(১৯৭৩) প্রবচতণ ত ছত্রোককর যেচ চব েোস 
কর।এই যেচ চব েোস অ েুোয়ী প্রচতটি চবিোকগর প্রযো  
ববচশষ্ট্েগুচল যলখ।                       ৫+৫=১০             

c. Why Anthoceros is called Hornwort? Mention the 

Structural features and advance features of the Sporophytic 

plant of Anthoceros                                               1+6+3=10               

Anthoceros-যক হ ণওয়োট বকল যক ? Anthoceros-এর 
যরর্ুযর উচিদ এর গঠ  ও উন্নত ববচশস্ট্েগুচল উকেখ কর। 

                                                                                     ১+৬+৩=১০ 

(GROUP-B) 

 

4. Answer any three of the following:          1×3=3 

   যেককোক ো চত টি প্রকের উত্তর দোও -          ১X৩=৩ 

a. What is Prophage? 

যপ্রোিোজ কোকক বকল? 

b. Name one single stranded RNA virus. 

একটি চিতন্ত্রী চড এ  এ এবং একটি একতন্ত্রী চড এ  এ িোইরোকসর 

উদোহরর্ দোও। 

c. What do you mean by lag phase. 

লেোগ দশো বলকত কী যবোঝ? 
d. What is natural classification? Cite an example. 

প্রোকৃচতক যে ীচব েোস কোকক বকল? উদোহরর্ দোও। 
e. What is Pappus? 

পেোপোস কী?  

 

5. Answer any three of the following:          2×3=6 

   যেককোক ো চত টি প্রকের উত্তর দোও -          ২X৩=৬ 

a. What do you mean by Corymb Inflorescence .Cite 

Example. 

কচরম্ব পুস্পচব েোস বলকত কী যবোঝ? উদোহরর্ দোও। 

b. Draw the figure of Syngeneceous Stamen. Where it is 

found? 

চস কজক চসয়োস স্ট্েোকমক র চিত্র আঁক। যকোর্োয় পোওয়ো েোয়?  
c. State Two principles of ICBN. 

ICBN-এর দুটি  ীচত উকেখ কর। 

d. Draw the figure of quincuncial aestivation. 

কুই কো চশয়োল মকুুল পত্রচব েোকসর চিত্র আঁক।  


